#EFFE -TETH 2T 5T (T (55T {TE)

DEGFEDFERE

/=2 O\ [EroERrE EEEE <&
* KiF+FH2 A HEERATOOFTADBZE T, Kig+FH2AOBIANIHELRE) D7 —ADFEHI AS 195F5= AX5%
OfFFH~A—R OFRMA—X 1955< A= 33085= Ax10%  -97,500
7. $55F15%8 5,100,000 7. 85 F15%8 5,100,000 3305< AS 6955 = AX20% —427,500
1. BFtE8 2,470,000 (NHIEZERR + # SRR FHERRERE) 1. ¥EBREFTEE 2,140,000 69585 < A= 900/5= Ax23% -636,000
Y. RFiFTS%E 2,630,000 (7 —1) ). iETFT15%E 2,960,000 (7 — 1) 9005 < A= 1,800/5= Ax33% -1,536,000
I. FrisHiss 168,975 ((2 x 10%—97,500) x 1.021) I. {ER%iEE 293500 (2 x 10% —2,500) 1,8005< A< 4,0005= Ax40% -2,796,000

XX 4,00075 < = AX45% -4,796,000

QE%ﬁﬁﬁ?%%ﬁl:é:of%ﬁ%b“iib\i‘d'o

* TS EIA 52 51<2,500/ [ FREEERREE, J

KEEFASHROBERAAPIIFHREHRE X 1.021£58YFET

#F{t€ 40, 000H

DE A TRZE]
= (B EEKROTRS)
47O A & 1A | = 2,000
EHER R ..

QIFFHDERREE]
38,000/ X 10.021% (1)

=3,808M

@UERBOEREREE]
38,000 X 10%

= 3,800

@E R D H I ERREE]
7 :90% —10.021% (£1) =79.979%

4:38,000M x 79.979%= 30,392

[FAHEERRER]

O#ERFR - RIS THFFE (X) H52,000M%E5|EFET,

(-><)1 BHOBEFRR - TRMICHLFGETBEE. TOFHEDEETEE
AR EEEEDI0% I RE

[Frid DIZRR]

QF (R R x IEHRECKER1SHR)
NIEBMEHROBEREBPEAREHREX1.021E8YFET
[BAEEBROEZER]

RO ERITRR

FHEERRRTR X 10%

@ B 532k
FHEBR TR x (90% — ST ER)
7. 90% QD EDRICAW-FIEHROMELSIESET
1. FHERAREEICT CTROELFELET
X@G)ﬁﬁId:EE*RFﬁ?%%'JGDZ-*U?ﬁ\BEF'
KEFBEREBHROBRAADIIFAEHEx1.021E4YFET

[ MBS EERBRSEHET

@+3+@
38, OOOHDOFHEMNEFHINFET




